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4.4 (

(1 3 ) 22
28 JEAN/
4
1 3
1
( )
) 3
3
( 8 11 )
22 1
1 2 3
3.23 0% 0.40 1% 0.16 0%
87.43 4% 2.83 4% 1.62 3%
12.08 1% 0.56 1% 0.13 0%
5.38 0% 0.02 0% 0.77 1%
3.32 0% 0.35 1% 0.23 0%
96.95 4% 3.31 5% 8.22 14%
a 39.30 20 0.65 1% 0.22 0%
11.00 0% 0.23 0% 0.01 0%
25.28 1% 1.74 3% 0.38 1%
404.26 18% 5.48 9% 4.50 8%
0.02 0% 0.04 0% 0%
1.96 0% 0.26 0% 6.21 10%
() 690.21 30% 15.87 25% 22.45 38%
b 1,309.99 58% 13.03 20% 13.94 24%
/ ¢ 272.83 12% 35.53 55% 22.77 38%
2,273.03 100% 64.44 100% 59.16 100%
a
b ( )
C
( )
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23 1 )
1)
2 1 H s
( « ) ) ® ()
1 6.5 3.5 42.5 2,460 264 28 ® 142
2 0.5 19.5 2,460 136.5 49 20
3 7 2,460 49 0.4 % 2
4 11 2,460 77 0.5 % 3
1 4.5 4.5 1.5 51 1,572 351 35 9 176
2 0.5 7 1,572 49 19 5
3 0.5 6 1,572 42 0.8 ® 4
4 0.5 10.5 1,572 73.5 0.5 % 3
1)
2)
3) 0.2
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